WD TIVRIDT YR DRI n1M92 noon WM AT TINHY Yy pT

31.6.1
37a (8 mwp) > 38a (ono niphw 8VN)

§2,00 77273 PO9R N2 NNAN RY Y DIN DD MY IX DPA DIN 2 MY 93 .
N2, 87771097 0299 TANAN DR TRYDY ‘DY 1277 NINN 1R XY TWR IRNY nnna Y2 oXY .
2,15 8777312792 12011 DRI RY DR PHY INYnN 402 12791 1T IRV 1HNI2 OR) .

Pv 02727:12 NYYD INHK? ARY DY T2Y 77 M0 D27 IR DO YRILD N INRYY

I x mwn: specific D'mn in the ear which justify 1151 nomnw
a if: the cartilage is diminished - but not skin
i amount: "7 — enough that the fingernail tracing it “falls in”
b  orif itis cut, even if nothing is missing
i ap»ix any size of a cutis a n; N8 can be ©NY 12 or DR *Pa (note: DR *11 is still unintentional)
1 Implication: cut must be nTR 12
2 Correction: either of them can be n'nw »11 or DR *Pa
¢ ifrithas a hole the size of a legume (nw73 — defined as 810" - vetch)
i N712272 DTN’ 7200V "1 reads “the size of a lentil”; but these two are nearly the same
ii ~ Challenge: 103 may not become px3, as he becomes n”ya — and nmn’ 92 '0v “1 allows for very narrow awl
1  Note: we infer, against 177 3, that they pierce on high cartilage of ear — yet the hole is tiny
2 Answer: to invalidate for nmay (:n27pn if it were an animal), he’ll allow for any size; for 11321 nVNWY - NYVTYI
iii  Question (posed to 727 82777 77): is this big enough for the X121 to wedge in or to enter and exit?
1 Answer: from discussion re: dispute n”2/v"a re: amount of skull to be missing to relieve nn nxnw
(a) Conclusion: meaning of w”a’s “drill bit” is for it to enter and leave
(i) 97 side-discussion re: size of 9¥13 nTpn or regular nTpn
(b) Tangent: “strong” testimony of wpy »ar Mpmn re: 093 NRML of wood vessels with no “pn”
d or:ifitisdry -
i p’m sodry that it doesn’t exude blood
ii  pbwni 1301’7 so dry that it breaks off
II  General inquiry into classification of nmmn:
a  question: why are ear-holes etc. considered n'min? v. 1 indicates lame or blind (11 & noa)
i answer: D 11 P ) extends to other onn
ii  challenge: if so, read the sequence as V191 993 — 993 limited by V18 (only lame or blind)
1 answer: 71 D 93 completes sequence as 9921 V191 592
(a) just as: My/noa are non-healing, exposed n'mn —so all DN 1R NIV DM
2 challenge: why not add “naron 51v2” (D0 causes animal to be unable to work)?
(a) answer: 71 0 Y3 extends to non-work-affecting nymmn
(b) challenge: then why not extend to internal onmn? (mwn later distinguishes between inner/outer gums)
(i) answer: that isn’t a 7 o (disfiguring)
(ii) challenge: if so, why not allow no'nw for temporary in (1219 DIN)? — our Mmwn (1Y) disallows
1. answer: that is reasonable; if we can’t redeem ©w7p for 721y DN (cf. below), can’t slaughter
a.  per: RmM31-—v. 2 is n”Moa (v. 3 “covers” wnn NRNY) — only Y1ap DI — NINN 1TP? RY TVR
2. Alterrnative answer: then 1» noa (v. 1) serve no function (if not to limit to y12p oin)
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